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* reidai3-1.f - 000000 0O0O0O0OO0OOOOOOOQ
program reidai3l
* ooooo
real Pi,a,b,yoyuu
parameter (Pi = 3.1415926535)
parameter (a = 0.0, b = 2.0 * Pi)
parameter (yoyuu = (b - a) / 20)
* ooooo
integer N,i
real h,x,f

* x dodooooood
write(x,x) ’x0 000000000 0O0OOOO0O °
read(*,*) N
h=(-a /N

* oooooooooao

call openpl
call fspace(a-yoyuu, -3.0, b+yoyuu, 3.0)

* godogogno
call fmove(a, f(a))
* Oodogoooooogo

do 100 i =1, N
x=a+1x*xh
call fcont(x, f(x))
100 continue
* oooooooooon
call closepl
end
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real function f(x)
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real x
f = sin(x) + sin(3.0 * x) + sin(5.0 * x)
return

end
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